
Caliper
Mounting

Plate

Stock M3 x 10mm
Cap Head Screw

M3 x 8mm Buttonhead
Cap Screws

Left Side
Spindle
Shown

#73402 - Front Spindle Set for the Losi Super Rock Rey
What's Included: 1 - Left Spindle Block, 1 - Right Spindle Block, 2 - Caliper Mounting Plates & 4 - M3 x 8mm 
Buttonhead Cap Screws.

Before You Begin: Disassemble your stock spindle set, retaining the 2 - M3 x 10mm cap head screws that hold the 
stock caliper mounting plate to the stock spindles. Retain the 4 - M3 x 10mm cap head screws that hold the stock 
caliper to the caliper mounting plate. These 6 screws will be reused with your RPM Spindle Set.�
�

Installation: 1) Clip the Spindles and Caliper Mounting Plates off of their respective 
trees. Afterwards, bolt the included Caliper Mounting Plates to the Spindles as shown 
to the right using the stock M3 x 10mm cap head screws. Caution: The Caliper 
Mounting Plates are directional.

2) Install the 2 included M3 x 8mm buttonhead screws 
as shown in the illustration (below left). Do not tighten at 
this time. Simply get them started and turned in roughly 3/4 of the 

way.

3) Finish installing the RPM Spindles on 
your Super Rock Rey, making 
sure to install the stock caliper 

only after the axle has been 
installed in the Spindle and the brake disk is in place, 
using the remaining 4 stock M3 x 10mm cap head screws.

4) Tighten the M3 x 8mm buttonhead screws once the 
kingpins have been installed.

Weight Reduction Tips: You can reduce unsprung weight by as much as 2 grams simply 
by replacing all 6 of the stock M3 x 10mm cap head screws with M3 x 8mm buttonhead 

screws (not included). Since these are non-critical screws, 
smaller, lighter screws will not affect the strength or durability of 

the vehicle in any negative way. Alternately, leaving the caliper plates and 
calipers off entirely will save additional unsprung weight.


